## ON RUEHR'S IDENTITIES

## HORST ALZER AND HELMUT PRODINGER


#### Abstract

We apply completely elementary tools to achieve recursion formulas for four polynomials with binomial coefficients. In particular, we obtain simple new proofs for Ruehr's combinatorial identities. Moreover, we use our formulas to find identities and inequalities for trigonometric polynomials.


Mathematics Subject Classifications: 05A19, 11C08, 26D05
Keywords: Combinatorial identities, recursion formula, algebraic and trigonometric polynomials, inequalities

## 1. Introduction and main result

We define the following four sums:

$$
\begin{array}{ll}
A_{n}=\sum_{j=0}^{n} 3^{j}\binom{3 n-j}{2 n}, & B_{n}=\sum_{j=0}^{n} 2^{j}\binom{3 n+1}{n-j}, \\
C_{n}=\sum_{j=0}^{2 n}(-3)^{j}\binom{3 n-j}{n}, & D_{n}=\sum_{j=0}^{2 n}(-4)^{j}\binom{3 n+1}{n+1+j} .
\end{array}
$$

The study of two integral equations led Ruehr [6] to the identities

$$
\begin{equation*}
A_{n}=C_{n} \quad \text { and } \quad B_{n}=D_{n} \quad(n=0,1,2, \ldots) . \tag{1}
\end{equation*}
$$

We remark that in [6] $A_{n}$ is erroneously given with $4^{j}$ instead of $3^{j}$. The corrected version is due to Meehan et al. [8].

In a recently published paper, Meehan et al. [8] present new computer-generated proofs for (1) by using the Wilf-Zeilberger method. Moreover, they offer an interesting combinatorial proof for

$$
A_{n}=B_{n} \quad(n=0,1,2, \ldots)
$$

In particular, the authors show that $A_{n}, B_{n}, C_{n}$, and $D_{n}$ satisfy the recursion formula

$$
\begin{equation*}
X_{0}=1, \quad X_{n+1}=\frac{27}{4} X_{n}-\frac{3}{4(n+1)}\binom{3 n+1}{n} \quad(n=0,1,2, \ldots) . \tag{2}
\end{equation*}
$$

In this note, we establish the recursions in the simplest possible way, by only using the recursion

$$
\binom{n+1}{k+1}=\binom{n}{k+1}+\binom{n}{k}
$$

of Pascal's triangle and elementary rearrangements. Actually, we prove a bit more: in the next section we demonstrate that the four polynomials

$$
\begin{array}{ll}
A_{n}(x)=\sum_{j=0}^{n}\binom{3 n-j}{2 n} x^{j}, & B_{n}(x)=\sum_{j=0}^{n}\binom{3 n+1}{n-j} x^{j}, \\
C_{n}(x)=\sum_{j=0}^{2 n}\binom{3 n-j}{n} x^{j}, & D_{n}(x)=\sum_{j=0}^{2 n}\binom{3 n+1}{n+1+j} x^{j}
\end{array}
$$

satisfy the following recursion formulas.
Theorem. For all $n \geq 0$ we have

$$
\begin{aligned}
A_{n+1}(x) & =\frac{x^{3}}{(x-1)^{2}} A_{n}(x)+\frac{(4 n+2) x^{2}-(15 n+10) x+9 n+6}{2(n+1)(x-1)^{2}}\binom{3 n+1}{n}, \\
B_{n+1}(x) & =\frac{(x+1)^{3}}{x^{2}} B_{n}(x)+\frac{(4 n+2) x^{2}-(7 n+6) x-2 n-2}{2(n+1) x^{2}}\binom{3 n+1}{n},
\end{aligned}
$$

$$
\begin{aligned}
& C_{n+1}(x)=\frac{x^{3}}{x-1} C_{n}(x)+\frac{(2 n+2) x^{2}+(3 n+2) x-9 n-6}{2(n+1)(x-1)}\binom{3 n+1}{n}, \\
& D_{n+1}(x)=\frac{(x+1)^{3}}{x} D_{n}(x)+\frac{(2 n+2) x^{2}+(7 n+6) x-4 n-2}{2(n+1) x}\binom{3 n+1}{n} .
\end{aligned}
$$

Remark 1. From the recursions we obtain the identities

$$
\begin{equation*}
A_{n}(x+1)=B_{n}(x) \quad \text { and } \quad C_{n}(x+1)=D_{n}(x) . \tag{3}
\end{equation*}
$$

The fact that $A_{n}(x+1)=B_{n}(x)$ can be seen directly:

$$
\begin{aligned}
A_{n}(x+1) & =\sum_{j=0}^{n}(x+1)^{j}\binom{3 n-j}{2 n}=\sum_{j=0}^{n} \sum_{k=0}^{j}\binom{j}{k} x^{k}\binom{3 n-j}{2 n} \\
& =\sum_{k=0}^{n} x^{k} \sum_{j=k}^{n}\binom{j}{k}\binom{3 n-j}{2 n}=\sum_{k=0}^{n} x^{k}\binom{3 n+1}{2 n+1+k} \\
& =\sum_{k=0}^{n} x^{k}\binom{3 n+1}{n-k}=B_{n}(x) .
\end{aligned}
$$

The identity that was used here is a variant of the Vandermonde convolution [5].
The direct proof that $C_{n}(x+1)=D_{n}(x)$ is similar.
Remark 2. We have $A_{n}(3)=A_{n}, B_{n}(2)=B_{n}, C_{n}(-3)=C_{n}$, and $D_{n}(-4)=D_{n}$. From the Theorem we conclude that $A_{n}, B_{n}, C_{n}$ and $D_{n}$ satisfy the recursion formula (2). In particular, we obtain $A_{n}=B_{n}=C_{n}=D_{n}$ for $n \geq 0$.

In the next section, we prove our theorem and in Section 3 we show that (3) can be applied to obtain identities and inequalities for trigonometric polynomials.

## 2. Proof

Let us start with the simpler ones.

$$
\begin{aligned}
B_{n+1}(x)= & \sum_{j=0}^{n+1} x^{j}\binom{3 n+4}{n+1-j} \\
= & \sum_{j=0}^{n+1} x^{j}\left[\binom{3 n+1}{n+1-j}+3\binom{3 n+1}{n-j}+3\binom{3 n+1}{n-1-j}+\binom{3 n+1}{n-2-j}\right] \\
= & x \sum_{j=-1}^{n} x^{j}\binom{3 n+1}{n-j}+3 \sum_{j=0}^{n} x^{j}\binom{3 n+1}{n-j} \\
& \quad+\frac{3}{x} \sum_{j=1}^{n} x^{j}\binom{3 n+1}{n-j}+\frac{1}{x^{2}} \sum_{j=2}^{n} x^{j}\binom{3 n+1}{n-j}
\end{aligned}
$$

$$
\begin{aligned}
= & \frac{(x+1)^{3}}{x^{2}} \sum_{j=0}^{n} x^{j}\binom{3 n+1}{n-j} \\
& +\binom{3 n+1}{n+1}-\frac{3}{x}\binom{3 n+1}{n}-\frac{1}{x^{2}}\binom{3 n+1}{n}-\frac{1}{x}\binom{3 n+1}{n-1} \\
= & \frac{(x+1)^{3}}{x^{2}} B_{n}(x)+\frac{(4 n+2) x^{2}-(7 n+6) x-2 n-2}{2(n+1) x^{2}}\binom{3 n+1}{n} . \\
D_{n+1}(x)= & \sum_{j=0}^{2 n+2} x^{j}\binom{3 n+4}{n+2+j} \\
= & \sum_{j=0}^{2 n+2} x^{j}\left[\binom{3 n+1}{n+2+j}+3\binom{3 n+1}{n+1+j}+3\binom{3 n+1}{n+j}+\binom{3 n+1}{n-1+j}\right] \\
= & \sum_{j=0}^{2 n-1} x^{j}\binom{3 n+1}{n+2+j}+3 \sum_{j=0}^{2 n} x^{j}\binom{3 n+1}{n+1+j} \\
& +3 \sum_{j=0}^{2 n+1} x^{j}\binom{3 n+1}{n+j}+\sum_{j=0}^{2 n+2} x^{j}\binom{3 n+1}{n-1+j} \\
= & \frac{1}{x} \sum_{j=1}^{2 n} x^{j}\binom{3 n+1}{n+1+j}+3 \sum_{j=0}^{2 n} x^{j}\binom{3 n+1}{n+1+j} \\
& +3 x \sum_{j=-1}^{2 n} x^{j}\binom{3 n+1}{n+1+j}+x^{2} \sum_{j=-2}^{2 n} x^{j}\binom{3 n+1}{n+1+j} \\
= & \frac{(x+1)^{3}}{x} D_{n}(x)-\frac{1}{x}\binom{3 n+1}{n+1}+3\binom{3 n+1}{n}+\binom{3 n+1}{n-1}+x\binom{3 n+1}{n} \\
= & \frac{(x+1)^{3}}{x} D_{n}(x)+\frac{(2 n+2) x^{2}+(7 n+6) x-4 n-2}{2(n+1) x}\binom{3 n+1}{n} .
\end{aligned}
$$

Now we move to the two remaining sums.

$$
\begin{aligned}
A_{n+1}(x) & =\sum_{j=0}^{n+1} x^{n+1-j}\binom{2 n+2+j}{j} \\
& =\sum_{j=0}^{n+1} x^{n+1-j}\binom{2 n+1+j}{j}+\sum_{j=0}^{n+1} x^{n+1-j}\binom{2 n+1+j}{j-1} \\
& =\sum_{j=0}^{n+1} x^{n+1-j}\binom{2 n+1+j}{j}+\sum_{j=0}^{n+1} x^{n-j}\binom{2 n+2+j}{j}-\frac{1}{x}\binom{3 n+3}{n+1} \\
& =\sum_{j=0}^{n+1} x^{n+1-j}\binom{2 n+1+j}{j}+\frac{1}{x} A_{n+1}(x)-\frac{1}{x}\binom{3 n+3}{n+1} .
\end{aligned}
$$

Therefore

$$
\begin{aligned}
\left(1-\frac{1}{x}\right) & A_{n+1}(x)+\frac{1}{x}\binom{3 n+3}{n+1}=\sum_{j=0}^{n+1} x^{n+1-j}\binom{2 n+1+j}{j} \\
= & \sum_{j=0}^{n+1} x^{n+1-j}\binom{2 n+j}{j}+\sum_{j=0}^{n+1} x^{n+1-j}\binom{2 n+j}{j-1} \\
= & x A_{n}(x)+\binom{3 n+1}{n+1}+\sum_{j=0}^{n+1} x^{n-j}\binom{2 n+1+j}{j}-\frac{1}{x}\binom{3 n+2}{n+1} \\
= & x A_{n}(x)+\binom{3 n+1}{n+1}-\frac{1}{x}\binom{3 n+2}{n+1}+\frac{1}{x}\left[\left(1-\frac{1}{x}\right) A_{n+1}(x)+\frac{1}{x}\binom{3 n+3}{n+1}\right] .
\end{aligned}
$$

Simplifying,

$$
\frac{(x-1)^{2}}{x^{2}} A_{n+1}(x)=x A_{n}(x)+\binom{3 n+1}{n+1}-\frac{1}{x}\binom{3 n+2}{n+1}-\frac{1}{x}\binom{3 n+3}{n+1}+\frac{1}{x^{2}}\binom{3 n+3}{n+1} .
$$

Therefore

$$
A_{n+1}(x)=\frac{x^{3}}{(x-1)^{2}} A_{n}(x)+\frac{(4 n+2) x^{2}-(15 n+10) x+9 n+6}{2(n+1)(x-1)^{2}}\binom{3 n+1}{n}
$$

Finally,

$$
\begin{aligned}
C_{n+1}(x)= & \sum_{j=0}^{2 n+2} x^{2 n+2-j}\binom{n+1+j}{j} \\
= & \sum_{j=0}^{2 n+2} x^{2 n+2-j}\binom{n+j}{j}+\sum_{j=1}^{2 n+2} x^{2 n+2-j}\binom{n+j}{j-1} \\
= & x^{2} C_{n}(x)+x\binom{3 n+1}{2 n+1}+\binom{3 n+2}{2 n+2} \\
& \quad+\sum_{j=0}^{2 n+2} x^{2 n+1-j}\binom{n+1+j}{j}-\frac{1}{x}\binom{3 n+3}{2 n+2} \\
= & x^{2} C_{n}(x)+x\binom{3 n+1}{2 n+1}+\binom{3 n+2}{2 n+2}+\frac{1}{x} C_{n+1}(x)-\frac{1}{x}\binom{3 n+3}{2 n+2}
\end{aligned}
$$

or

$$
C_{n+1}(x)=\frac{x^{3}}{x-1} C_{n}(x)+\frac{(2 n+2) x^{2}+(3 n+2) x-9 n-6}{2(n+1)(x-1)}\binom{3 n+1}{n} .
$$

## 3. Applications

Gould [4] collected numerous interesting binomial identities for trigonometric sums and polynomials. We use the formulas given in (3) to obtain identities for sine and cosine sums which we could not locate in Gould's compilation or any other publication.

We set $x=e^{i \theta}$. Then,

$$
A_{n}(x+1)=\sum_{j=0}^{n}\binom{3 n-j}{2 n}\left(e^{i \theta}+1\right)^{j}=\sum_{j=0}^{n}\binom{3 n-j}{2 n} \sum_{\nu=0}^{j}\binom{j}{\nu}[\cos (\nu \theta)+i \sin (\nu \theta)]
$$

and

$$
B_{n}(x)=\sum_{j=0}^{n}\binom{3 n+1}{n-j} e^{i \theta j}=\sum_{j=0}^{n}\binom{3 n+1}{n-j}[\cos (j \theta)+i \sin (j \theta)] .
$$

Since $A_{n}(x+1)=B_{n}(x)$, we obtain

$$
\begin{equation*}
\sum_{j=0}^{n}\binom{3 n-j}{2 n} \sum_{\nu=0}^{j}\binom{j}{\nu} \cos (\nu \theta)=\sum_{j=0}^{n}\binom{3 n+1}{n-j} \cos (j \theta) \tag{4}
\end{equation*}
$$

and

$$
\begin{equation*}
\sum_{j=1}^{n}\binom{3 n-j}{2 n} \sum_{\nu=1}^{j}\binom{j}{\nu} \sin (\nu \theta)=\sum_{j=1}^{n}\binom{3 n+1}{n-j} \sin (j \theta) \tag{5}
\end{equation*}
$$

If we apply $C_{n}(x+1)=D_{n}(x)$, then we find the following companions of (4) and (5):

$$
\sum_{j=0}^{2 n}\binom{3 n-j}{n} \sum_{\nu=0}^{j}\binom{j}{\nu} \cos (\nu \theta)=\sum_{j=0}^{2 n}\binom{3 n+1}{n+1+j} \cos (j \theta)
$$

and

$$
\sum_{j=1}^{2 n}\binom{3 n-j}{n} \sum_{\nu=1}^{j}\binom{j}{\nu} \sin (\nu \theta)=\sum_{j=1}^{2 n}\binom{3 n+1}{n+1+j} \sin (j \theta) .
$$

A theorem of Vietoris (see [7] and [10]) states that if $a_{0}, a_{1}, \ldots, a_{n}$ are real numbers satisfying

$$
\begin{equation*}
a_{0} \geq a_{1} \geq \cdots \geq a_{n}>0 \quad \text { and } \quad a_{2 j} \leq \frac{2 j-1}{2 j} a_{2 j-1} \quad(1 \leq j \leq n / 2), \tag{6}
\end{equation*}
$$

then

$$
\sum_{j=0}^{n} a_{j} \cos (j \theta) \quad \text { and } \quad \sum_{j=1}^{n} a_{j} \sin (j \theta)>0 \quad(0<\theta<\pi)
$$

A short calculation reveals, that if we set $a_{j}=\binom{3 n+1}{n-j}(j=0,1, \ldots, n)$, then (6) is valid. If follows that the sums given in (4) and (5) are positive for all $n \in \mathbb{N}$ and $\theta \in(0, \pi)$.

If we replace in (5) $\theta$ by $\pi-\theta$, and add up the two sums on both sides, then we arrive at
(7) $\sum_{j=1}^{n}\binom{3 n-j}{2 n} \sum_{\substack{\nu=1 \\ \nu \text { odd }}}^{j}\binom{j}{\nu} \sin (\nu \theta)=\sum_{\substack{j=1 \\ j \text { odd }}}^{n}\binom{3 n+1}{n-j} \sin (j \theta)>0 \quad(n \in \mathbb{N} ; 0<\theta<\pi)$.

We obtain similar results if we apply $A_{n}(x+1)=B_{n}(x)$ with $x=e^{i \theta}-1$. In particular, we get the following counterpart of (7):
(8)
$\sum_{j=1}^{n}(-1)^{j-1}\binom{3 n+1}{n-j} \sum_{\substack{\nu=1 \\ \nu \text { odd }}}^{j}\binom{j}{\nu} \sin (\nu \theta)=\sum_{\substack{j=1 \\ j \text { odd }}}^{n}\binom{3 n-j}{2 n} \sin (j \theta)>0(n \in \mathbb{N} ; 0<\theta<\pi)$.
Another relative of (7) is given by
(9)
$\sum_{j=1}^{2 n}(-1)^{j-1}\binom{3 n+1}{n+1+j} \sum_{\substack{\nu=1 \\ \nu \text { odd }}}^{j}\binom{j}{\nu} \sin (\nu \theta)=\sum_{\substack{j=1 \\ j \text { odd }}}^{2 n}\binom{3 n-j}{n} \sin (j \theta)>0(n \in \mathbb{N} ; 0<\theta<\pi)$.
We set $x=e^{i \theta}-1$ in $C_{n}(x+1)=D_{n}(x)$. Then (as before), we replace $\theta$ by $\pi-\theta$ and add up. This yields that the two sine polynomials in (9) are equal. To prove the positivity we make use of the known identity

$$
\begin{equation*}
\sum_{\nu=1}^{n} b_{\nu} \sin ((2 \nu-1) \theta)=\sum_{k=1}^{n}\left(b_{k}-b_{k+1}\right) \frac{\sin ^{2}(k \theta)}{\sin (\theta)} \quad\left(b_{n+1}=0\right) . \tag{10}
\end{equation*}
$$

Let $b_{k}=\binom{3 n+1-k}{n}(k=1,2, \ldots, n)$ and $b_{n+1}=0$. Then, $b_{k}>b_{k+1}(k=1, \ldots, n)$, so that (10) and

$$
\sum_{\substack{j=1 \\ j \text { odd }}}^{2 n}\binom{3 n-j}{n} \sin (j \theta)=\sum_{\nu=1}^{n} b_{\nu} \sin ((2 \nu-1) \theta)
$$

reveal that the sums in (9) are positive for $n \in \mathbb{N}$ and $\theta \in(0, \pi)$.
We note that the constant lower bound 0 , given in (7), (8) and (9), respectively, is best possible.

Additional inequalities for trigonometric polynomials involving binomial coefficients are given in the research papers [1], [2], [3]. Nonnegative trigonometric polynomials have remarkable applications in various branches. For instance, they play an important role in geometric function theory, approximation theory and in the theory of absolutely monotonic functions. More information on this subject can be found in [9, chapter 4].

Acknowledgement. We are grateful to the referee for inspiring comments which improved the quality of the paper.

## References

[1] H. Alzer and B. Fuglede, On a trigonometric inequality of Turán, J. Approx. Th. 164 (2012), 1496-1500.
[2] H. Alzer and S. Koumandos, Remarks on a sine polynomial, Arch. Math. 93 (2009), 475-479.
[3] H. Alzer and S. Koumandos, Sharp estimates for various trigonometric sums, Analysis 33 (2012), 9-26.
[4] H. W. Gould, Combinatorial Identities: Table III: Binomial identities derived from trigonometric and exponential series, 26 pages, www.math.wvu.edu/~gould/
[5] R. L. Graham, D. E. Knuth, and O. Patashnik, Concrete Mathematics (Second Edition), Addison Wesley, 1994.
[6] N. Kimura and O. G. Ruehr, Change of variable formula for definite integrals, E 2765, Amer. Math. Monthly 87 (1980), 307-308.
[7] S. Koumandos, An extension of Vietoris's inequalities, Ramanujan J. 14 (2007), 1-38.
[8] S. Meehan, A. Tefera, M. Weselcouch, and A. Zeleke, Proofs of Ruehr's identities, INTEGERS 14 (2014), paper A10.
[9] G. V. Milovanović, D. S. Mitrinović, and Th. M. Rassias, Topics in Polynomials: Extremal Problems, Inequalities, Zeros, World Sci., Singapore, 1994.
[10] L. Vietoris, Über das Vorzeichen gewisser trigonometrischer Summen, Sitzungsber. Öst. Akad. Wiss. 167 (1958), 125-135; Anz. Öst. Akad Wiss. 1959, 192-193.

Horst Alzer, Morsbacher Str. 10, 51545 Waldbröl, Germany.
E-mail address: H.Alzer@gmx.de
Helmut Prodinger, Mathematics Department, Stellenbosch University, 7602 Stellenbosch, South Africa.

E-mail address: hproding@sun.ac.za

